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Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 2716 4.7 3.2 30 15.5 98.2

3 | 2664 | 108 | 48 | 60 | 18 | 963
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


Compulsory

1. Look at the item below and answer the following questions.

HH

Gang leader for a day

Venkatesh, a Sociologist, was a student in Chicago who was fascinated
by life on the most deprived housing estates and tried to study how
people lived. He began his study by attempting quantitative research
but this was not effective.

He then decided to conduct an ethnographic study and began to ‘hang
out’ with a gang, the Black Kings. He interviewed people at all levels
and participated in the life of the group. Eventually, he was allowed
to act as gang leader for one day by the gang captain and became a
full participant observer in the group. While the gang talked to him
in detail, other people on the housing estates avoided him and his
questions.

(Adapted from Gang Leader for a Day by Sudhir Venkatesh)

Using material from the item and elsewhere, explain the full meaning of the term
ethnographic study. [10]

With reference to the item and sociological studies, identify and assess the strengths
and weaknesses of participant observation. [20]
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Sticky Note
5/3
The candidate understands the process of Ethnomethodological research and defines the term with reference to a way of life. Key terms are used, though reliability is not understood. There is no use of additional examples which would be necessary for the top mark band. The item is referred to and there is additional detail with reference to ‘going native’ 
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Sticky Note
1/0
The confusion of ethnographic and ethnicity was frequent. Relevant points are taken from the item and credited, but there is no additional knowledge brought to the response so no AO2 marks are available.
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Sticky Note
10/7
Strengths and weaknesses are identified with explicit commentary and there is a definition of the term. The content is a little disorganised. Technical language is used extremely well. Points are made without their being identified as either a strength or a weakness. There is an example of a participant observation.
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Sticky Note
5/4
The first paragraph is not clearly explained. There is an example, but this lacks precision and detail. The example is a also piece of journalism rather than sociology. The issue of ethics is raised and considered well. However, overall the response is over-reliant on information from the passage. Enough understanding is displayed for credit, and with a little development of detail, this could have gained a better mark.



Choose one question from the following options.

Either,
2.
Education
Describe and explain functions of the education system. [20]
Discuss explanations of differences in gender attainment in education within the

UK. [40]
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Sticky Note
12/8
This is a clear and logical response with reference to theory and clear evaluative language. There are comparisons and contrasts between the theories.
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Sticky Note
5/3
There is knowledge, but it is not always applied to the question. There are some errors of detail. The knowledge was not always applied to the question so that there is some lack of focus.
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Sticky Note
14/12
There is a good understanding of the patterns of gender attainment and reference to the way that the trends have changed over time. There are references to explanations, so the focus is present. However, there are also some confusions. Studies are referred to, but not always accurately. 
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Sticky Note
6/6
There is reference to the question, but both the AO1 and the AO2 are basic. Points are made but not developed. There is only a basic attempt to discuss explanations, rather the focus is on trends.
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Q1 (a)

© WJEC CBAC Ltd.

SY2

Using material from the item and elsewhere, explain the full meaning of
the term ethnographic study. [10]

Answers should be fully rewarded for accuracy and succinct coverage of any
relevant points. There should be contextualisation of the term with reference
to studies.

Candidates may refer to some but not necessarily all of the following:

Study of cultural patterns

Social meaning of ordinary and daily activity
Definitions of the term ‘participant observer’, noting elements of joining
in and watching whilst maintaining value freedom.
Getting to know, or ‘walking in their shoes.’
Weber and Verstehen.

GH Mead and empathy.

Naturalism and interprevitism.

Insight, depth and understanding.

Quialitative, emotion and meaning.

Issues of reliability and validity.

And any other relevant points.

Responses other than those listed above may be valid and credit worthy if
sociological evidence and analysis is present.

16





Marks

AO1

At least two strengths are identified and fully explained with
reference to relevant examples.

Accurate sociological terminology will be used in such a way as
to display explicit and detailed knowledge and understanding.

Reference will be made to the item and to other relevant studies.
Knowledge may be illustrated with reference to the item.

The quality of written communication will be good.

Two strengths are identified and explained with some knowledge
and understanding evident.

Some sociological language may be present.

There will be reference to the item or additional sociological
knowledge.

There may be some errors of punctuation, spelling and grammar.

There is basic evidence of sociological knowledge and
understanding.

Answers will be common sense in approach.

No relevant knowledge or understanding is present.

AO2

Appropriate examples and explanations of the two strengths
identified will be apparent.

Analysis (explanations) will be explicit.

Some appropriate examples and explanations of the strengths
identified will be apparent but this may be unbalanced.

Analysis will be implicit.

No analysis present.

© WJEC CBAC Ltd.
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(b)

© WJEC CBAC Ltd.

With reference to the item and sociological studies, identify and assess
the strengths and weaknesses of participant observation. [20]

Answers should be fully rewarded for accuracy and succinct coverage of any
relevant points. Note that appropriate development and use of exemplary
material can be taken as evidence of analysis.

There should be contextualisation of the term with reference to studies and to
the item as specified in the question.

Candidates may refer to some but not necessarily all of the following:

. Defining the term briefly, perhaps with an example.
. The strengths of participation and observation - this should be
explained in the context of key methodological concerns such as:

Depth.

Validity.

Empathy.

Challenging the ‘taken for granted.’
Flexibility and responsiveness.

. The weaknesses of structured interviews - this should be explained in
the context of key methodological concerns such as:

Scale.

‘Going native.’

Skills.

Access to groups.
Time and practicality.
Ethical issues.

. All relevant examples and explanations will be credited. Direct
reference to relevant studies is necessary for answers to gain access
to the top mark band.

Responses other than those listed above may be valid and credit worthy if
sociological evidence and analysis is present.

18





AO1

AO2

10-12

Candidates will be able to make accurate, appropriate
and detailed reference to a range of writers, research
and theory.

There will be a very good level of knowledge and
understanding and this will be detailed and wide
ranging.

Candidates will be able to refer to evidence drawn
from more than one area of sociology where
appropriate.

Answers will be expressed in appropriate sociological
language.

Candidates will be able to make accurate and
appropriate use of the sociological terminology
indicated in the specifications, showing knowledge and
understanding of its meaning.

The quality of written communication is very good, with
few, if any, errors of spelling, punctuation or grammar.

7-8

Candidates will relate their knowledge directly to the
guestion under consideration and this link will be
detailed and explicit.

References to writers, research and/or theory will be
explained in detail and contextualised.

Answers will be formally constructed with a clear and
logical argument.

Evaluation and/or analysis will be detailed and explicit
throughout the answers.

The candidate may challenge the terms of the
guestion.

6-9

Candidates will be able to make some accurate,
appropriate reference to writers, research or theory.
There will be some knowledge and understanding and
this will be detailed or wide ranging.

Candidates may be able to refer to more than one
area of sociology where appropriate.

Answers will make some use of appropriate
sociological language.

Candidates may be able to make some use of the
sociological terminology indicated in the specifications,
showing some knowledge and understanding of its
meaning.

The quality of written communication is, for the most
part good though there may be some errors of spelling,
punctuation and grammar.

5-6

Candidates will relate their knowledge to the question
under consideration but the link is likely to be more
implicit than in band 4.

References to writers, research or theory will have
some explanation.

Answers will have some clarity and logical argument.
Evaluation or analysis is likely to be implicit and is
unlikely to be present throughout the answer.

4-5

Candidates will be able to make limited reference to
writers, research or theory.

There will be basic knowledge and understanding but
this will lack detail and will not be wide ranging.
Candidates will make limited references to other areas
of sociology.

There will be limited and at times inaccurate use of the
sociological terminology indicated in the specifications.
The quality of written communication will be limited
with frequent errors of punctuation, spelling and
grammar.

3-4

Candidates will make limited links between their
knowledge and the question.

There will be limited explanation of any writers,
research or theory referred to.

Answers will have limited clarity or logical argument.
Any evaluation or analysis will be implicit and very
limited.

1-3

Candidates may rely on anecdotal references with few
if any references to writers, research or theory.

There will be limited knowledge or understanding.
There will be limited use of sociological language.

The quality of written communication will be poor with
numerous errors of spelling, punctuation and
grammar.

1-2

Candidates will make no links between their
knowledge and the question.

There will be no explanation of any writers, research
or theory.

There will be no evaluation.

0
No relevant knowledge or understanding displayed.

0
No relevant analysis.

© WJEC CBAC Ltd.
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Education
Q2 (a) Describe and explain functions of the education system for society. [20]

The focus of the answer should be on functional views of education, but other
wider functions should be credited, as long as they are explained in terms of
the role of education for society. Reference to Marxism and education as
social control is to be rewarded. Answers should be fully rewarded for
accuracy and succinct coverage of any relevant points. Credit should be
given to an understanding of the significance of the reasons for change as
well as knowledge of change.

Candidates will be credited with:

. Secondary socialisation into norms and values.

. Meritocracy.

. Institutional reasons (employment).

. Vocationalism and the need for employable workforce.

. Marxism and social control.

. Cultural reproduction.

. Reference to relevant studies, named writers or sociological writing.
. Applied use of examples.

. All relevant examples and explanations will be credited.

Responses other than those listed above may be valid and credit worthy if
sociological evidence and analysis is present.

© WJEC CBAC Ltd.
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AO1 (12)

AO2 (8)

10-12

Candidates will be able to make accurate, appropriate
and detailed reference to a range of writers, research
and theory.

There will be a very good level of knowledge and
understanding and this will be detailed and wide
ranging.

Candidates will be able to refer to more than one area
of sociology where appropriate.

Answers will be expressed in appropriate sociological
language.

Candidates will be able to make accurate and
appropriate use of the sociological terminology
indicated in the specifications, showing knowledge
and understanding of its meaning.

The quality of written communication is very good,
with few, if any, errors of spelling, punctuation or
grammar.

7-8

Candidates will relate their knowledge directly to the
guestion under consideration and this link will be
detailed and explicit.

References to writers, research and/or theory will be
explained in detail and contextualised.

Answers will be formally constructed with a clear and
logical argument.

Evaluation and/or analysis will be detailed and explicit
throughout the answers.

The candidate may challenge the terms of the
guestion.

6-9

Candidates will be able to make some accurate,
appropriate reference to writers, research or theory.
There will be some knowledge and understanding and
this will be detailed or wide ranging.

Candidates may be able to refer to more than one
area of sociology where appropriate.

Answers will make some use of appropriate
sociological language.

Candidates may be able to make some use of the
sociological terminology indicated in the
specifications, showing some knowledge and
understanding of its meaning.

The quality of written communication is, for the most
part good though there may be some errors of
spelling, punctuation and grammar.

5-6

Candidates will relate their knowledge to the question
under consideration but the link is likely to be more
implicit than in band 4.

References to writers, research or theory will have
some explanation.

Answers will have some clarity and logical argument.
Evaluation or analysis is likely to be implicit and is
unlikely to be present throughout the answer.

4-5

Candidates will be able to make limited reference to
writers, research or theory.

There will be basic knowledge and understanding but
this will lack detail and will not be wide ranging.
Candidates will make limited references to other areas
of sociology.

There will be limited and at times inaccurate use of
the sociological terminology indicated in the
specifications.

The quality of written communication will be limited
with frequent errors of punctuation, spelling and
grammar.

3-4

Candidates will make limited links between their
knowledge and the question.

There will be limited explanation of any writers,
research or theory referred to.

Answers will have limited clarity or logical argument.
Any evaluation or analysis will be implicit and very
limited.

1-3

Candidates may rely on anecdotal references with few
if any references to writers, research or theory.

There will be limited knowledge or understanding.
There will be limited use of sociological language.

The quality of written communication will be poor with
numerous errors of spelling, punctuation and
grammar.

1-2

Candidates will make no links between their
knowledge and the question.

There will be no explanation of any writers, research
or theory.

There will be no evaluation.

0
No relevant knowledge or understanding displayed.

0
No relevant analysis.

© WJEC CBAC Ltd.
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(b)

© WJEC CBAC Ltd.

Discuss explanations for differences in gender attainment in education
within the UK. [40]

The focus of the answer should be on reasons for differences in the
attainment of gender groups, perhaps noting patterns of ethnicity. The focus
should be on explanation of differences and these should be evaluated.
There should be reference to changing gender roles and patterns in society
though candidates may challenge how deeply these changes are rooted.
Candidates should be aware of patterns of social inequality. Answers should
be fully rewarded for accuracy and succinct coverage of any relevant points.

Candidates may refer to some but not necessarily all of the following:

. Walllis (1984), Bookford, Bruce, Wilson.

. Attainment patterns for the different genders.

. There may be understanding of how these patterns have changed
over 40 years.

. Critical awareness of explanations of differential achievement such as
cultural and material deprivation.

. Critical awareness of explanations of school-based inequalities and
feminism of education.

. Crisis of masculinity.

. Awareness of social influences on attainment e.g. labelling, inequality
of access to good schooling, self-fulfilling prophecy.

. Reference to recent political, social or public debate with reference to
educational inequality.

. Reference to relevant studies or sociological writing.

. Applied use of examples.

. All relevant examples and explanations will be credited.

Responses other than those listed above may be valid and credit worthy if
sociological evidence and analysis is present.

22





AO1 (20)

AO2 (20)

17-20

Candidates will be able to make accurate, appropriate
and detailed reference to a range of writers, research
and theory.

There will be a very good level of knowledge and
understanding and this will be detailed and wide ranging.
Candidates will be able to refer to more than one area of
sociology where appropriate.

Answers will be expressed in appropriate sociological
language.

Candidates will be able to make accurate and
appropriate use of the sociological terminology indicated
in the specifications, showing knowledge and
understanding of its meaning.

The quality of written communication is very good, with
few, if any, errors of spelling, punctuation or grammar.

17-20

Candidates will relate their knowledge directly to the
question under consideration and this link will be
detailed and explicit.

References to writers, research and/or theory will be
explained in detail and contextualised.

Answers will be formally constructed with a clear and
logical argument.

Evaluation and/or analysis will be detailed and explicit
throughout the answers.

The candidate may challenge the terms of the question.

11-16

Candidates will be able to make some accurate,
appropriate reference to writers, research or theory.
There will be some knowledge and understanding and
this will be detailed or wide ranging.

Candidates may be able to refer to more than one area
of sociology where appropriate.

Answers will make some use of appropriate sociological
language.

Candidates may be able to make some use of the
sociological terminology indicated in the specifications,
showing some knowledge and understanding of its
meaning.

The quality of written communication is, for the most part
good though there may be some errors of spelling,
punctuation and grammar.

11-16

Candidates will relate their knowledge to the question
under consideration but the link is likely to be more
implicit than in band 4.

References to writers, research or theory will have some
explanation.

Answers will have some clarity and logical argument.
Evaluation or analysis is likely to be implicit and is
unlikely to be present throughout the answer.

6-10

Candidates will be able to make limited reference to
writers, research or theory.

There will be basic knowledge and understanding but
this will lack detail and will not be wide ranging.
Candidates will make limited references to other areas of
sociology.

There will be limited and at times inaccurate use of the
sociological terminology indicated in the specifications.
The quality of written communication will be limited with
frequent errors of punctuation, spelling and grammatr.

6-10

Candidates will make limited links between their
knowledge and the question.

There will be limited explanation of any writers, research
or theory referred to.

Answers will have limited clarity or logical argument.
Any evaluation or analysis will be implicit and very
limited.

1-5

Candidates may rely on anecdotal references with few if
any references to writers, research or theory.

There will be limited knowledge or understanding.
There will be limited use of sociological language.

The quality of written communication will be poor with
numerous errors of spelling, punctuation and grammar.

1-5

Candidates will make no links between their knowledge
and the question.

There will be no explanation of any writers, research or
theory.

There will be no evaluation.

0
No relevant knowledge or understanding displayed.

0
No relevant analysis.

© WJEC CBAC Ltd.
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